

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: July 15, 2024

Progress Estin	nate Number	Contract ID Prime Contractor	240315-D03 Concrete Solution LLC			Original Contract Amount Net Change Order Amount Current Contract Amount	nt \$0.00
Approval Date							By User
July 15, 2024		G	Generated and Approved	(and should be con	sidered Draft) at	the Project Office Level by	schaua1
July 16, 2024		Revie	wed and Approved (and	should be considered	ed Draft) at the F	Resident Engineer Level by	kronej1

July 17, 2024	F	Reviewed and Approved at the Cen	tral Office Controllers Office Level by	ramses1
Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amou	int Complete
November 1, 2024	November 1, 2024		1.76%	

	Contract Informational Dates										
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract								
Acceptance Date											
Awarded Date	April 3, 2024	April 3, 2024									
Letting Date	March 15, 2024	March 15, 2024									
Notice to Proceed Date	May 6, 2024	May 6, 2024									
Open to Traffic Date											
Work Began Date	July 8, 2024	July 8, 2024									

Contract Total Pay For Estimate No. 1				
	This Estimate	Previous	To Date	
240315-D03				
Total Posted Items Pay	\$6,275.97	\$0.00	\$6,275.97	
Gross Item Adjustments	\$0.00	\$0.00	\$0.00	
Incentive	\$0.00	\$0.00	\$0.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Liquidated Damage	\$0.00	\$0.00	\$0.00	
Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
		\$0.00	\$6,275.97	
Contract Total Payable This Estimate:	\$6,275.97			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J5S3546	0030	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$11.000	31.67	\$348.37
	0040	5021108	CONCRETE PAVEMENT (8 IN. NON-REINF)	SQYD	\$142.000	8.3	\$1,178.60
	0070	6081012	TRUNCATED DOMES	SQFT	\$35.000	28	\$980.00
	0110	6086007	CONCRETE SIDEWALK, 7 IN.	SQYD	\$120.000	23.3	\$2,796.00
	0160	6161005	CONSTRUCTION SIGNS	SQFT	\$7.250	116	\$841.00
	0170	6161025	CHANNELIZER (TRIM LINE)	EA	\$16.500	8	\$132.00
Project J5S354	6 - Total						\$6,275.97
Overall - Total							\$6,275.97

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item	Adjusti	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5S3546	0040	CONCRETE PAVEMENT (8 IN. NON-REINF)	Material			-8.3	\$142.00	(\$1,178.60)
	0040	CONCRETE PAVEMENT (8 IN. NON-REINF)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user schaua1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	8.3	\$142.00	\$1,178.60

Revision 3/23/2023 Page 1 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: July 15, 2024

Progress Estimate Number
1 Contract ID 240315-D03 Pay Period Start See NTP Date Original Contract Amount Sa56,196.70 Pay Period End July 15, 2024 Net Change Order Amount Current Contract Amount Sa56,196.70

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5S3546	0070	TRUNCATED DOMES	Material			-28	\$35.00	(\$980.00)
	0070	TRUNCATED DOMES	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user schaua1 overridding Payment Estimate Exception 6 on the current Payment Estimate.	28	\$35.00	\$980.00
	0110	CONCRETE SIDEWALK, 7 IN.	Material			-23.3	\$120.00	(\$2,796.00)
	0110	CONCRETE SIDEWALK, 7 IN.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user schaua1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	23.3	\$120.00	\$2,796.00
	0160	CONSTRUCTION SIGNS	Material			-116	\$7.25	(\$841.00)
	0160	CONSTRUCTION SIGNS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user schaua1 overridding Payment Estimate Exception 8 on the current Payment Estimate.	116	\$7.25	\$841.00
	0170	CHANNELIZER (TRIM LINE)	Material			-8	\$16.50	(\$132.00)
	0170	CHANNELIZER (TRIM LINE)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user schaua1 overridding Payment Estimate Exception 9 on the current Payment Estimate.	8	\$16.50	\$132.00
Total								\$0.00

Revision 3/23/2023 Page 2 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	l					
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work						
J5S3546	FAS S403(12)	ADA improvements	240,5,I-70 OR,T,F	HOWARD	at various location in	various location in Columbia, Stoutland, Fayette, New Franklin and Sleeper						
Totals by J	lob Numbe	rs										
Totals by J	lob Numbe	rs			This Estimate	Previous	To Date					
•		rs d Item Pay			This Estimate \$6,275.97	Previous \$0.00	To Date \$6,275.97					
•	Poste		nts									
•	Poste	d Item Pay	nts Gross Item	ı Pay	\$6,275.97	\$0.00	\$6,275.97					
•	Poste	d Item Pay Item Adjustme		n Pay	\$6,275.97 \$0.00	\$0.00 \$0.00	\$6,275.97 \$0.00					
•	Poste	d Item Pay Item Adjustme		n Pay	\$6,275.97 \$0.00 \$6,275.97	\$0.00 \$0.00 \$0.00	\$6,275.97 \$0.00 \$6,275.97					
•	Poster Gross Incent Disino	d Item Pay Item Adjustme		ı Pay	\$6,275.97 \$0.00 \$6,275.97 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$6,275.97 \$0.00 \$6,275.97 \$0.00					

Revision 3/23/2023 Page 3 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J5S3546, Item 5021108, Project Item Line Number 0040, Material Set 502110896, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	Waiting for tests to be completed.	schaua1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3546, Item 5021108, Project Item Line Number 0040, Material Set 502110896, Material 1057JMDAEC4.11 - Dowel Assemblies Epoxy Ctd Gr40 1 1/4" @, Acceptance Action Generic ReinforcingMisc is insufficient.	Waiting for tests to be completed.	schaua1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3546, Item 5021108, Project Item Line Number 0040, Material Set 502110896, Material 1057JMDAEC6.11 - Dowel Assemblies Epoxy Ctd Gr60 1 1/4" @, Acceptance Action Generic ReinforcingMisc is insufficient.	Waiting for tests to be completed.	schaua1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3546, Item 5021108, Project Item Line Number 0040, Material Set 502110896, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	Waiting for tests to be completed.	schaua1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3546, Item 5021108, Project Item Line Number 0040, Material Set 502110896, Material 1057JMTBE28016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 40/M280@, Acceptance Action Generic ReinforcingMisc is insufficient.	Waiting for tests to be completed.	schaua1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3546, Item 6081012, Project Item Line Number 0070, Material Set 608101296, Material 1067TRDO - Truncated Domes for ADA, Acceptance Action Generic 1067TRDO is insufficient.	Need certs from contractor.	schaua1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3546, Item 6086007, Project Item Line Number 0110, Material Set 608600796, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	Waiting for tests to be completed.	schaua1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3546, Item 6161005, Project Item Line Number 0160, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Need certs from contractor.	schaua1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3546, Item 6161025, Project Item Line Number 0170, Material Set 616102596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Need certs from contractor.	schaua1	Overridden

Revision 3/23/2023 Page 4 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240315-D03	J5S3546	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$35,000.00	\$0.00
		0001	0020	2079903	MISC.LINEAR GRADING FOR ADA FACILITIES	1,663.00	0.00	1,663.00	LF	0.00	\$15.00	\$0.00
		0001	0030	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	1,420.00	0.00	1,420.00	SQYD	31.67	\$11.00	\$348.37
		0001	0040	5021108	CONCRETE PAVEMENT (8 IN. NON-REINF)	248.00	0.00	248.00	SQYD	8.30	\$142.00	\$1,178.60
		0001	0050	6081000	CONCRETE MEDIAN	3.60	0.00	3.60	SQYD	0.00	\$200.00	\$0.00
		0001	0060	6081010	CONCRETE CURB RAMP	300.60	0.00	300.60	SQYD	0.00	\$142.00	\$0.00
		0001	0070	6081012	TRUNCATED DOMES	285.00	0.00	285.00	SQFT	28.00	\$35.00	\$980.00
		0001	0080	6082023	HAND-RAILING FOR STEPS WITHOUT BALUSTERS	26.00	0.00	26.00	LF	0.00	\$90.00	\$0.00
		0001	0090	6085008	PAVED APPROACH, 8 IN.	292.00	0.00	292.00	SQYD	0.00	\$155.00	\$0.00
		0001	0100	6086004	CONCRETE SIDEWALK, 4 IN.	567.80	0.00	567.80	SQYD	0.00	\$80.00	\$0.00
		0001	0110	6086007	CONCRETE SIDEWALK, 7 IN.	43.20	0.00	43.20	SQYD	23.30	\$120.00	\$2,796.00
		0001	0120	6091041	CONCRETE GUTTER TYPE A	21.00	0.00	21.00	LF	0.00	\$63.00	\$0.00
		0001	0130	6092011	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	248.00	0.00	248.00	LF	0.00	\$35.00	\$0.00
		0001	0140	6092013	INTEGRAL CURB TYPE M	25.00	0.00	25.00	LF	0.00	\$48.00	\$0.00
		0001	0150	6099903	MISC.CURB AND GUTTER, TYPE B, SPECIAL	110.00	0.00	110.00	LF	0.00	\$48.00	\$0.00
		0001	0160	6161005	CONSTRUCTION SIGNS	332.00	0.00	332.00	SQFT	116.00	\$7.25	\$841.00
		0001	0170	6161025	CHANNELIZER (TRIM LINE)	92.00	0.00	92.00	EA	8.00	\$16.50	\$132.00
		0001	0180	6169902	MISC.DETECTABLE PEDESTRIAN BARRICADE	12.00	0.00	12.00	EA	0.00	\$200.00	\$0.00
		0001	0190	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$41,500.00	\$0.00
		0001	0200	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	20.00	0.00	20.00	EA	0.00	\$275.00	\$0.00
		0001	0210	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$6,000.00	\$0.00
		0001	0220	7034001	CLASS B-1 CONCRETE	1.00	0.00	1.00	CUYD	0.00	\$1,200.00	\$0.00
		0001	0230	7101000	REINFORCING STEEL (EPOXY COATED)	40.00	0.00	40.00	LB	0.00	\$10.00	\$0.00
		0001	0240	8059901	MISC.SEEDING AND MULCHING	1.00	0.00	1.00	LS	0.00	\$8,000.00	\$0.00
		0001	0250	8061006	ALTERNATE DITCH CHECK	30.00	0.00	30.00	LF	0.00	\$20.00	\$0.00
		0001	0260	8061007A	CURB INLET CHECK	4.00	0.00	4.00	EA	0.00	\$250.00	\$0.00
		0001	0270	8061016	SEDIMENT REMOVAL	17.00	0.00	17.00	CUYD	0.00	\$50.00	\$0.00
		0001	0280	8061019	SILT FENCE	931.00	0.00	931.00	LF	0.00	\$4.50	\$0.00
		0040	0290	9031270A	2 IN. PSST POST - 12 GA.	80.00	0.00	80.00	LF	0.00	\$16.00	\$0.00
		0040	0300	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	5.00	0.00	5.00	EA	0.00	\$100.00	\$0.00
	Project J	5S3546 - To	otal Value	Posted to D	Date as of Report Generated Date							\$6,275.97
240315-D03 Ove	erall - Total	Value Post	ted to Da	te as of Rep	ort Generated Date							\$6,275.97

Revision 3/23/2023 Page 5 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J5S3546

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	3040504	TYPE 5 AGGREGATE FOR BASE	7/8/24	7/11/24	31.67	SQYD	Stoutland School side 18.89 SY Parking Lot side 12.78 SY					
0040	5021108	CONCRETE PAVEMENT (8 IN. NON-REINF)	7/10/24	7/11/24	8.30	SQYD	Stoutland Left Side (School side)					
0070	6081012	TRUNCATED DOMES	7/8/24	7/11/24	8.00	SQFT	Sleeper Location					
			7/10/24	7/11/24	20.00	SQFT	Stoutland 2 10SF installed.					
0110	6086007	CONCRETE SIDEWALK, 7 IN.	7/10/24	7/11/24	23.30	SQYD	Stoutland RT (Parking Lot Side) - 12.78 SY LF (School side) - 10.55 SY					
0160	6161005	CONSTRUCTION SIGNS	7/8/24	7/11/24	32.00	SQFT	Stoutland Work zone 2 Road Work Ahead signs					
			7/15/24	7/15/24	84.00	SQFT	Fayette. 1 Road Work Ahead 2 ONe Lane Road Ahead 2 Elagger Sign 2 Sidewalk closed					
0170	6161025	CHANNELIZER (TRIM LINE)	7/8/24	7/11/24	8.00	EA	Stoutland Work Zone					

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 3/23/2023 Page 6 of 8

Jul 18, 2024



Line Item Adjustments by Estimate

Contract ID: 240315-D03

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
J5S3546	0040	CONCRETE PAVEMENT (8 IN. NON-REINF)	Material		1	Jul 15, 2024	SYSTEM	\$1,178.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user schaua1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
					1	Jul 15, 2024	SYSTEM	(\$1,178.60)		
				- Total				\$0.00		
			Material - To	otal				\$0.00		
	0040 -	Total						\$0.00		
	0070	TRUNCATED DOMES	Material		1	Jul 15, 2024	SYSTEM	\$980.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user schaua1 overridding Payment Estimate Exception 6 on the current Payment Estimate.	
					1	Jul 15, 2024	SYSTEM	(\$980.00)		
				- Total				\$0.00		
			Material - To	otal				\$0.00		
	0070 -	Total						\$0.00		
	0110	CONCRETE SIDEWALK, 7 IN.	Material		1	Jul 15, 2024	SYSTEM	\$2,796.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user schaua1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	
						1	Jul 15, 2024	SYSTEM	(\$2,796.00)	
				- Total				\$0.00		
			Material - To	otal				\$0.00		
	0110 -	Total						\$0.00		
	0160	CONSTRUCTION SIGNS	Material		1	Jul 15, 2024	SYSTEM	\$841.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user schaua1 overridding Payment Estimate Exception 8 on the current Payment Estimate.	
					1	Jul 15, 2024	SYSTEM	(\$841.00)		
				- Total				\$0.00		
			Material - To	otal				\$0.00		
	0160 -	Total						\$0.00		
	0170	CHANNELIZER (TRIM LINE)	Material		1	Jul 15, 2024	SYSTEM	\$132.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user schaua1 overridding Payment Estimate Exception 9 on the current Payment Estimate.	
					1	Jul 15, 2024	SYSTEM	(\$132.00)		
				- Total				\$0.00		
			Material - To	otal				\$0.00		
	0170 -	Total						\$0.00		
J5S3546 -	- Total							\$0.00		
Overall -	Total							\$0.00		

MoDOT

Contract Adjustments for Contract - 240315-D03

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 8 of 8